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Question Number : 1 Question Id : 25498942088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is the act of copying or downloading a program from a network and making multiple copies of it.
Options :
1. ® Network piracy
2. % Plagiarism
3. ¥ Software piracy

4. # Site-license piracy



Question Number : 1 Question Id : 25498942088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g Acdd I URITH Dl BT T SISTAIS B 3R 5TD| s Uil S ST B g
Options :
1. % Jead gl
2. % WEARSH
3. ¢ TIoedaR YRRl
4. % gr3c-ARyy gl

Question Number : 2 Question Id : 25498942089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What utility do you use to transfer files and exchange messages?

Options :

1. # Web browsers

2. % WWW

3. % E-mail

4. % Hypertext

Question Number : 2 Question Id : 25498942089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

319 T3S TR 3R YR & SMEH-UEH & o1t 390 I fhadh! SxauTd vd 82
Options :

1. % 99 ST3ory
2. %8 WWW
3. ¢ 509
4. % GORCRT

Question Number : 3 Question Id : 25498942090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In MS Excel, if the results of a formula CANNOT be displayed completely in a cell, it displays multiple characters.
Options :



1. #
2.% @
3. % +
4. % g

Question Number : 3 Question Id : 25498942090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Excel H af¢ T3 & UfRomd fooeft dwef (@) H I aRg wefRid 18l frd o 9ehd ©, 1 98 &s guf yefRfd srargl
Options :

1.¥ #

2. % @

3. % +

4. %

Question Number : 4 Question Id : 25498942091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A helps to create different types of written documents, such as personal letters, form letters, brochures, faxes and even professional
manuals.

Options :

1. ¥ word processor
2. ® graphics editor
3. # database

4. ¥ gpreadsheet

Question Number : 4 Question Id : 25498942091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafir gepR & foriad gxaras a9 H Hag &Rl 7, S [ fddid U, B Ud, siXR, haw SR g8t a& & U=iar A-gara o |
Options :
1. ¢ 98 TR
2. % Yiithey UfgeR
3. % goreyg




4. % s

Question Number : 5 Question Id : 25498942092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1 MB is equal to:

Options :

1. ¥ 1000 GB

2. % 1 billion bytes

3.4 1024 KB

4. ® 1 thousand bytes

Question Number : 5 Question Id : 25498942092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

| MB fTd SRIeR g1 82
Options :

1. % 1000 GB

2. % 1 faferg Sigcw

3.¥ 1024 KB
4. % | §OIR S18CY

Question Number : 6 Question Id : 25498942093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is Baud rate?

Options :

1. # The difference between the lowest and the highest frequency transmitted

2. # Transmission capacity

3. ¥ Rate at which the signal changes

4. ¥ The number of units transmitted

Question Number : 6 Question Id : 25498942093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



I3 &R A 52

Options :

1. % FaTd T HH 3R I=aH 3MRT & o1 BT 3R
2. % TIAIHRM &l

3. ¢ &R 9 R Tobd seardl &

4. % ARG SH1ST Dt H-AT

Question Number : 7 Question Id : 25498942094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following options is a “web browser”?

Options :

1. ¥ Netscape

2. % i0S

3. # Launcher

4. % E-mail

Question Number : 7 Question Id : 25498942094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafafea § 3§ oF a1 fiee 39 TIeeR" 82
Options :

1. ¢ dc&hy

2. % i0S

3. % dl=<R

4. % 3.0G

Question Number : 8 Question Id : 25498942095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In third-generation computers, were used.

Options :

1. #® vacuum tubes

2. ¥ integrated circuits



3. ¥ transistors

4. % large scale integrated circuits

Question Number : 8 Question Id : 25498942095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Y dtel o hugext | H1 3TN e Tar 1|
Options :

1. % dogH s

2. ¥ 3CICE Afhe™

3. % ifoReR

4. % ol Whd SEHICS Aldhed

Question Number : 9 Question Id : 25498942096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Magnetic tape storage is primarily used for:

Options :

1. ¢ backups

2. # installing new programs

3. % rarely used software

4. ® data processing

Question Number : 9 Question Id : 25498942096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Hifes U WS BT MUfHe IuANT =1 82
Options :

|. ¥ 93U & forg

2. % U YU $Td B & o

3. % 9gd HH SUANT g1 dTd YIFEaTR & g
4. % STTUNRAT & forg



Question Number : 10 Question Id : 25498942097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The term LPT is related to:

Options :

1. # Serial Port

2. # Getronics Port

3. % USB Port

4. ¥ Parallel Port

Question Number : 10 Question Id : 25498942097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

LPT oG fherd Haiferd g7
Options :

1. % diga uid

2. % ﬁ@ﬁ?\q gre (Getronics Port)
3. % USBUIC

4. ¢ AR (OXST) T

Question Number : 11 Question Id : 25498942098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A CD-ROM is:

Options :

1. ¥ an optical ROM

2. # a magnetic ROM

3. % avolatile ROM

4. % a metallic disc

Question Number : 11 Question Id : 25498942098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

CD-ROM &1 §?
Options :



1. ¢ U 3HifPhd ROM
2. % U gab g ROM
3. % TP 3RR ROM
4. % Hefoe fotp

Question Number : 12 Question Id : 25498942099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The command to insert a header or footer is located on which Ribbon tab in MS Word 2010?

Options :

1. ¥ Insert

2. % Home

3. # Reference

4. % Page Layout

Question Number : 12 Question Id : 25498942099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word 2010 H fpd e 08 TR 8 I1 Fex S &1 SIS f¥Ud g2
Options :

1. ¥ Insert

2. ¥ Home

3. ¥ Reference

4. ® Page Layout

Question Number : 13 Question Id : 25498942100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following should you use if you want all of the slides in a presentation to have the same look?

Options :

1. # Slide Layout option

2. # Add a Slide option

3. ® Qutline View

4. ¥ A presentation design template



Question Number : 13 Question Id : 25498942100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TH Uoie § 3R It WSS &1 31U U oY =0 H fam1 =med &, af 3y fFafaied § @ feyes Suan &
Options :

1. % T3S WAIT R

2. % U3 3 WS 3=

3. % 3R

4. ¢ 3 YoicrH f&Tre ¢meie

Question Number : 14 Question Id : 25498942101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Input, output and processing devices grouped together represent a(n):

Options :

1. #* mobile device

2. # information processing cycle

3. % circuit board

4. ¥ computer system

Question Number : 14 Question Id : 25498942101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g9qe, 33eye 3R R fearsy e a1y fiydes o uefRid #d 82
Options :

1. % A§sd fsagy

2. # STHHRE TR Igfea

3. % gihecas

4. ¥ HYX Red

Question Number : 15 Question Id : 25498942102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
In Skype, is used to make a word italic in instant messaging.



Options :

1. # asterisk

2. ¥ underscore
3. # hyphens
4. # hash

Question Number : 15 Question Id : 25498942102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WU, BT SUTNT ATh eI TR H [l Weg ! SeTfered a1 & g forar ST |
Options :

1. % TERD (dRID)

2. ¥ STDHR

3. % gISWHA

4. % Y

Question Number : 16 Question Id : 25498942103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which operating system does NOT treat everything as a file?

Options :

1. ¥ Windows

2. % Linux

3. # Unix

4. % JAVA

Question Number : 16 Question Id : 25498942103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

B 1 SRS RieH 5 T 7e 1 Igel & U H g1 HI-dl 67
Options :

1. ¥ Windows

2. # Linux

3. # Unix



4. % JAVA

Question Number : 17 Question Id : 25498942104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which file format is used to save Active Server Page Extended ASP.NET script?

Options :

1. # .aspex

2. % .asp
3.9 aspx
4. % aspxp

Question Number : 17 Question Id : 25498942104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Tfded TaR Uol UTRICSS ASPNET fGhE &l HgoH & ol HH I BRd WiHce &1 SUANT fhaT Sfdl 52

Options :

1. % .aspex
2. % .asp

3. ¥ aspx
4. % aspxp

Question Number : 18 Question Id : 25498942105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which function key is used to move text in MS Word?

Options :

1. ®# F1

2. ¥ F2

3. % F3

4. % F4

Question Number : 18 Question Id : 25498942105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



MS Word H TRE & RIMIART $HRA & [T DI I HaRM ol DT SUIART {1 STl g2
Options :

1. % FI

2. ¥ F2

3. % F3

4. % F4

Question Number : 19 Question Id : 25498942106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the smallest font size available in Font Size tool in a Word document?

Options :

1. ¥ 8

2. %10

3.% 12

4. %7

Question Number : 19 Question Id : 25498942106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I3 T H Wi T3S ¢ H SUas Yo BICT Bie [hd MHR HI gidl 82
Options :

1.8

2. %10

3.% 12

4. %7

Question Number : 20 Question Id : 25498942107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the key / key combination to move to the beginning of a line in MS PowerPoint?

Options :

1. #* CTRL+HOME

2. ¥ HOME



3. ¥ ALT+HOME
4. # SHIFT+HOME

Question Number : 20 Question Id : 25498942107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS PowerPoint & ffl A8 & YB3MTd H SR o O & fo1T Foit / Froil T 1 62

Options :

1. % CTRL+HOME

2. ¥ HOME

3. ¥ ALT+HOME

4. % SHIFT+HOME

Question Number : 21 Question Id : 25498942108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A monitor can display from 16 to over 1 million different colors.

Options :

1. ¥ Monochrome

2. % QGray scale

3. ¥ Color

4. % Line

Question Number : 21 Question Id : 25498942108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TH AR 16 9 1 fAifera 3 siftres ffte T o) vefRfd s gear 2|
Options :

1. % A

2. % YIhd

3. ¥ hR

4. ® digd

Question Number : 22 Question Id : 25498942109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
represents the physical and tangible components of the computer.
Options :
1. % Software
2. ¥ Hardware
3. % User
4. ® Data

Question Number : 22 Question Id : 25498942109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

YR & Hifde iR qd gew! &l Udd HRaT 5 |
Options :

1. % FgediR

2. ¢ BT8aW

3. % JUANTHA!

4. % Sl

Question Number : 23 Question Id : 25498942110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The green colour jack in audio port is used to connect a

Options :

1. # microphone

2. ¥ speaker

3. ® stereo

4. ¥ guitar

Question Number : 23 Question Id : 25498942110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TSN UIE & R T BT oI T Hr1de B P [o1¢ YA T Siral 52

Options :

1. % HIZPIBH




2. Wi
3. % TR
4. % R

Question Number : 24 Question Id : 25498942111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In MS Excel, chart shows changes in values relative to a centre point.

Options :

1. # stock

2. ¥ radar

3. % bar

4. * line

Question Number : 24 Question Id : 25498942111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

UH G, MS Excel H &% foig ¥ Hafia gl & ulkad UeRid #rar gl
Options :

1. % WH

2. ¥ ISR

3. % R

4, % A=A

Question Number : 25 Question Id : 25498942112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In MS Excel, Rows are labelled as

Options :

1. ® A, B,C,etc

2.¥ 1,23 etc

3. % Al, A2, etc.

4. ® $AS$1, SA$2, etc.



Question Number : 25 Question Id : 25498942112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Excel H, Rows Bl & ¥U H Add fbar S g
Options :

1. % A, B, C, 3G

2. ¢ 12,33dIe

3. % Al A2, SIG

4. % $AS1, SAS2, ST

Question Number : 26 Question Id : 25498942113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Secondary vertical Axis is used in 2-D chart wherein the:

Options :

1. # values of a chart remains same from data series to data series.

2. ¥ values of a chart varies from data series to data series.

3. % values of a chart varies in data series.

4. % values for the not associated data series in MS Excel.

Question Number : 26 Question Id : 25498942113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fFrafaRad o 9 &H 9 a9d § 2-D 91¢ ¥ fgdia daad &R (Yoe! afcad Tas) &1 TRINT [T STl 87
Options :

1. % TP ST 41 U 37 ST 4 H a1¢ & Jed Uh A Ed & |

2. ¢ U ST Ja1 § 37 ST §aar § a1¢ & Jod N 81d g

3. % ST y@an H A & Jod U Bl € |

4. % MS Excel § 3{f%d Gafdd = M drelt ST @asdi &1 geJ |

Question Number : 27 Question Id : 25498942114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A/An allows you to import existing charts from Excel to PowerPoint presentation programmatically in MS Excel.



Options :

1. # Update

2. # Link

3. ¥ Visual Basic Application
4. % Copy

Question Number : 27 Question Id : 25498942114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MSExcelﬁ, ,ExcelaPowerPointWﬁW%WﬁmﬂﬂﬁaﬁmwaﬁWWW%I
Options :

1. % 3USc

2. % foid

3. ¢ faqera IRe siferd s

4. % DOl

Question Number : 28 Question Id : 25498942115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Gaining access to a website or other system using someone else's account or other methods is known as:

Options :

1. # legitimate access

2. % authorized access

3. ¥ unauthorized access

4. % authentic access

Question Number : 28 Question Id : 25498942115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fohit 3= & WTd BT YA H 37aT fohalt 3 fafy § dewrge a1 e Rived R Ugd U & &l HEI o g |
Options :

1. % 9y Ugd

2. % Sfepage

3. ¢ 3G Ugd




Question Number : 29 Question Id : 25498942116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the one that are generally used by the websites to define their security and identity.

Options :

1. ¥ Digital certificates

2. # Program

3. # Protocol

4. % Code

Question Number : 29 Question Id : 25498942116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR TR JaTZel gRT 3! FREM 3R UgaH &I URHIRNG H34 & fore foraest Iuai farar irar g2
Options :

1. ¢ f8foTed gammg=

2. % URIH

3. % giidld

4, % HIS

Question Number : 30 Question Id : 25498942117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Under which of the following tabs does page setup appear in MS PowerPoint 2007?

Options :

1. # Review

2. ¥ Design

3. # Insert

4. ¥ Home

Question Number : 30 Question Id : 25498942117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



MS PowerPoint 2007 & {6 2& & 3fcad U Jeard femrs Targ?
Options :

1. # Review

2. % Design

3. # Insert

4. % Home

Question Number : 31 Question Id : 25498942118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is the oldest type of printing?

Options :

1. # Flexography

2. ¥ Letterpress

3. # Gravure

4. ® Screen printing

Question Number : 31 Question Id : 25498942118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frafafad # 9 o 9 fHife &1 9e8 RAT ISR 82
Options :

1. % TRIRIIUThT (Flexography)

2. ¢ flfdT =g (Letterpress)

3. % ‘/Tlgﬁ (Gravure)

4. % wpi fUfen (Screen printing)

Question Number : 32 Question Id : 25498942119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Printed copy of a document is referred to as:

Options :

1. # soft copy

2. % hard copy



3. # digital copy

4. % electronic copy

Question Number : 32 Question Id : 25498942119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

forft STagie o1 fifes ufd &) b =u & Tefifa fear wmar g2
Options :

1. % QU Byl

2. ¥ §TS 14l

3. % fgfored il

4. % FAFRID Iyl

Question Number : 33 Question Id : 25498942123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In MS Word box(es) needs/need to be filled to customise the paper size.

Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 33 Question Id : 25498942123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word B ST & 3THR BT 3BT B o 1o [he Sy 1 U 1 oRoxd g2
Options :

1. %]

2.¥2

3.%3

4.% 4




Question Number : 34 Question Id : 25498942124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Word measures margins from the edge of the page to the edge of the

Options :

1. ¥ body text

2. * page

3. * footer

4. * header

Question Number : 34 Question Id : 25498942124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word T U & fH-R § AR F fHIR I HIfSH &) AU g |
Options :

1.« Sig e

2. % U9

3. % e

4. % g

Question Number : 35 Question Id : 25498942125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If Geetha wants to quickly add a first line indent to just one paragraph in her document, then she has to place her cursor at the beginning of the
first line of the paragraph and press the

Options :

1. ¥ tab key
2. * space bar
3. * shift key

4. *= control key

Question Number : 35 Question Id : 25498942125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

gfe 7T 3T SxdTaT & had U 3G H Ugal Ufad Sac oiie-T a1t §, a1 34 3w &I Ugd! a3 &1 e T 30T HIR IG1




B3R @I
Options :

1. ¢ ST ol

2. % WY IR

3. % fR1Ue Huil

4. % I il

Question Number : 36 Question Id : 25498942126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What do you understand by line spacing?

Options :

1. #® Spacing is a representation of line.

2. ® Spacing is an alternative to a first line indent for signaling the start of a new paragraph.

3. ¥ Spacing is an amount of vertical space between line of text.

4. ® Spacing is a horizontal space between lines.

Question Number : 36 Question Id : 25498942126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3T AT WRAT I o1 I 82

Options :

1. % TR Ra &1 ufafAfa B

2. % U U ¢ IRTUTP Bt YB3 BT Udbd o o (oY Ugall A1 sac &1 U fadhed 5|
3.« Jg UIS &1 sl & &I S@BR 3R (W) P! TH AT |

4. % g oSl & oT el W B

Question Number : 37 Question Id : 25498942127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A kind of serial dot-matrix printer that forms characters with magnetically charged ink sprayed dots is called:

Options :

1. #® drum printer

2. % Jaser printer



3. ¥ inkjet printer

4. % chain printer

Question Number : 37 Question Id : 25498942127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TP UHR H1 GRTd Sie-Afew fiiex S gaai U § =i fbU T8 WTg! B Sied & 1Y 3R ST 5, 39 $Hal Sl &
Options :

1. % g iR

2. % ooR fliex

3. ¢ Sdpoic [Uex

4. % g9 fiex

Question Number : 38 Question Id : 25498942128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which protocol is used to manage and monitor network traffic?

Options :

1. ¥ SNMP

2. % SMTP

3. % FTP

4. % NNTP

Question Number : 38 Question Id : 25498942128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Aeadh <fthdh BT JaU 3R TR A & U D19 1 Wicidbld &1 SUTRT foa SiraT 82

Options :

1. ¥ SNMP

2. % SMTP

3. % FTP

4. % NNTP



Question Number : 39 Question Id : 25498942129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A constellation diagram can help us to define signal's:

Options :

1. # frequency and amplitude

2. ¥ amplitude and phase

3. #* length and frequency

4. # frequency and phase

Question Number : 39 Question Id : 25498942129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U&h dRMHSd &1 A g1 Jobdl & &I R H3A § Aeg HaT gl
Options :

1. % 3gfy SR smam™

2. ¢ T 3R Tl

3. % qaTs 3R 3mgfa

4. % 3R IR el

Question Number : 40 Question Id : 25498942132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The core functionality of would provide the model for PivotTables.

Options :

1. # Quattro Pro

2. # Data Pivot

3. % Improv

4. % Unpivot

Question Number : 40 Question Id : 25498942132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

D! A Ha&Hd fUde ¢ad o fore Aied UaH &l

Options :




1. % SEIU
2. % gerfiae
3. ¢ 39
4. % 3HfUde

Question Number : 41 Question Id : 25498942133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lossy compression is a(n) compression technique.

Options :

1. # even

2. % odd

3. % reversible

4. ¥ irreversible

Question Number : 41 Question Id : 25498942133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

giNPRS Tied th TdisT deiie g
Options :

1. % 3d4

2. % 3fig

3. % feadfaa

4. ¢ RaHe

Question Number : 42 Question Id : 25498942134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

JPEG image compression could be

Options :

1. #® lossy compression only

2. # Jossless compression only

3. # neither lossy nor lossless

4. ¥ lossy as well as lossless



Question Number : 42 Question Id : 25498942134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

JPEGBATdsd @ gedigl

Options :

1. % $Had glMeR® AUt (I HHRH 3=

2. % Had gi-RIgd JuleT (@raay SRR 3=

3. % 91A 8BRS A1 81 8iRfed (FUR AR AR Aie)

4. ¢ BIMBHRS® & TIY-T1Y BI-RISd (AT 319 dd 3 AI)

Question Number : 43 Question Id : 25498942135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The log contains a record of the operating system events that indicates how the system processes and drivers were loaded.

Options :

1. ® traffic

2. ¥ gystem
3. ® threat

4. ® ynified

Question Number : 43 Question Id : 25498942135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SO AT (log) & IR Riew de (0s ge) &1 Ravls gial § off b g Rl ¢ [ Ried 3 5l T fohdn § 3R SEaR
gu |

Options :

1. % Tl (traffic)

2. ¢ T4H (system)

3. % 9T (threat)

4. % DS (unified)

Question Number : 44 Question Id : 25498942140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What is the key combination to print a file in Notepad?
Options :

1. ¢ Ctrl+P

2. % Ctrl+N+P

3. % ALT+P

4. % ALT+T

Question Number : 44 Question Id : 25498942140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Arete # w1gd fiic A & e it Ggie a1 82
Options :

1. ¥ Ctrl+P

2. #% Ctrl+N+P

3. % Alt+P

4. % Alt+T

Question Number : 45 Question Id : 25498942141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select latest Operating System among given below operating systems:

Options :

1. * Windows 8

2. % Windows 2007

3. % Windows 10

4. ¥ Windows 2008

Question Number : 45 Question Id : 25498942141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I fau U SfToRfeT Rized! & O Faiaq Operating System T dg- B

Options :

1. # Windows 8



2. % Windows 2007
3. % Windows 10
4. ® Windows 2008

Question Number : 46 Question Id : 25498942142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which shortcut key combination is used to open a START button in Windows?

Options :

1. ¥ CTRL+ESC

2. % CTRL+HOME

3. % CTRL+O

4. ®% CTRL+R

Question Number : 46 Question Id : 25498942142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Windows ¥ ¢ §e Wia- & forg forg widehe groll T &1 JanT fosa Sirar g2

Options :

1. ¥ CTRL+ESC

2. % CTRL+HOME

3. # CTRL+O

4. % CTRL+R

Question Number : 47 Question Id : 25498942152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Computer’s components may start to generate excess heat when

Options :

1. ® heat sink mechanism is working properly

2. % RAM is not connected properly

3. ¥ there is not sufficient cooling system in the computer case

4. ® due to power fluctuations



Question Number : 47 Question Id : 25498942152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HECR & I NG TH S HRAT Y= IR Fhdl § o1a:
Options :

1. % gle-Riw Ren 316 I T R IE|T 8
2. % RAM Sl A JST eI &

3. ¢ Hugex ¥ Ifa e gomedt T 7

4 % R o o A SR TEE A @ A

Question Number : 48 Question Id : 25498942154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Unix if a process ignores a regular kill command, you can use followed by the process ID to kill that process.
Options :

1. ¥ kill -9

2. ® kill -19

3. % kill -119

4, % kill -1119

Question Number : 48 Question Id : 25498942154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Unix § @13 WA 3t WIeR f5d (kill) FATS &) ToReS Sl g dl 30 39 U &1 frd dH & fog & §IE TN ID (338}
BT YA IR qhd g

Options :

1. ¥ kill -9

2. % kill -19
3. % kill -119
4. % kill -1119

Question Number : 49 Question Id : 25498942157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The chip, used in computers, is made of:



Options :

1. ¥ silicon

2. # chromium
3. % iron oxide

4. % silica

Question Number : 49 Question Id : 25498942157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

PR AUgEfay, s8Nl
Options :

1. ¢ Raferpia

2. % PHIFgH

3. % 3RA HFIES

4. % et

Question Number : 50 Question Id : 25498942158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a triple layer Recordable Blu-ray Disc, what is the cover layer thickness of L1 layer?

Options :

1. % 57 um

2. % 100 um

3. 75 um

4. % 65 um

Question Number : 50 Question Id : 25498942158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

foud TR Rpicad s-X f$%® H, L1 TR & HaR adR &I AICTs fha-t gl 82
Options :

1. % 57 um

2. % 100 um

3.¢ 75 um




4. % 65 um

Question Number : 51 Question Id : 25498942159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Anil wants to conduct a project meeting between 5 project teams, across Mumbai. He wants to have a face to face conversation with all the
project leaders. Which internet service should he use for this virtual meeting?

Options :

1. ¥ Videoconferencing
2. % E-learning

3. # Chatting

4. # E-mail

Question Number : 51 Question Id : 25498942159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T Heg R A 5 TRTSHT AHI & & T URTSHT 96 BT I18dl ¢ | I8 I+ Tiviae e ¥ SHHA-IHA JTddid BT aedi g | 39
FY3ra HIfT & e I 370 9 ford Sexic AT T SUTNT BT Algd?

Options :

1. ¢ ST HITBIAT

2. % g

3. % IfeT

4. % 3.0G

Question Number : 52 Question Id : 25498942160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
is an example of TV over the Internet.
Options :
1. ¥ Hulu.com
2. # MySpace
3. # Bing
4. % Yahoo



Question Number : 52 Question Id : 25498942160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3 gRIEd &1 U SeERUI g

Options :

1. ¥ Hulu.com

2. % AW

3. % a7

4. % lg

READING COMPREHENSION

Section Id : 2549894685
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1

Section Marks : 5
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894726
Question Shuffling Allowed : Yes

Question Id : 25498942146 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)
King and his three sons

There was once a king in India who died leaving behind three sons. The eldest of them would have become the king after his father, but the
captain of the king's army was hungry for power. He drove the three sons away and captured the kingdom for himself.

The three sons did not know what to do. They travelled a long way. At last they reached an inn. After they had taken their meal, they asked each
other how they could get their father's kingdom back.



Deva was the eldest of them. He asked his brothers, “What is the finest thing in the world?”
“The finest thing in the world is power”, replied Shankla, the second son.
“The captain had power, so he was able to drive us out of the kingdom.”

Deva thought for a minute, and then said, “No, it was not power that helped the captain drive us out of the kingdom. He had money to pay to the
soldiers. So money is the finest thing in the world.”
The two brothers argued for a long time.

Ananda, the youngest brother, did not say anything. He was silent and thoughtful. He finally said that peace of mind is the finest thing in the
world. His brothers thought him to be stupid. Before going to bed the two elder brothers decided that next morning they would set out in search
of the finest things in the world.

Deva decided to go to China in search of money. Shankla decided to go to Persia to raise a powerful army and Ananda stayed back.
Sub questions

Question Number : 53 Question Id : 25498942147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What type of a man was the captain?

Options :

1. ¥ greedy for power

2. # greedy for money

3. # official leader

4. % effective ruler

Question Number : 54 Question Id : 25498942148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who had captured the kingdom?

Options :

1. # The two elder brothers

2. % The King’s captain

3. # The King’s eldest son

4. % The Persian soldiers

Question Number : 55 Question Id : 25498942149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What did Ananda think was the finest thing in the world?
Options :

1. * money

2. # power

3. ¥ mental peace

4. % truth

Question Number : 56 Question Id : 25498942150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true?

Options :

1. # The captain captured the kingdom.

2. # The three sons travelled far away.

3. % Ananda did not go anywhere.

4. ¥ The captain captured the king’s sons.

Question Number : 57 Question Id : 25498942151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The three sons travelled a long way because they

Options :

1. # loved to visit new places

2. ¥ were thrown out of the kingdom

3. % were looking for a treasure

4. # were in search of peace

Question Id : 25498942146 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)

TSl 3R 3P o o
UH TG &1 914 §, HRd B U ST 4T o iH1 9l Dl BISHR gi-a1 I Il T 38 I Tad §3T 3U- T o §1g ST § 11 giel, f
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Sub questions

Question Number : 53 Question Id : 25498942147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HM g UHR BT SATGHT Y12
Options :

1. ¢ <A1 T <l

2. % T BT A

3. % YD =l

4. % QUT] TMH

Question Number : 54 Question Id : 25498942148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

for et IS TR heatl R fera or?

Options :



1. % QTS UTS

2. ¢ ST BT HWH

3. % ST BT IaY JS[ 9]
4. % HRY IS

Question Number : 55 Question Id : 25498942149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3{Te g & Ted Srd] =itel o’ HIdT T2
Options :

1. % T

2. % Il

3. ¢ UHRI® ifd

4. % I

Question Number : 56 Question Id : 25498942150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafefed sy 7 3 o9 91 90 T8l 82
Options :

1. % B = Iod TR Heoll B [T

2. % I o R Ad Y|

3. % 3Fc ol ol T U

4. S A IS & GAT ! st 57 foram T

Question Number : 57 Question Id : 25498942151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

i Sel 1 T dar IRd1 ad fhar aaifes |
Options :

1. % I8 U R UR ST gdG o

2. ¢ Jg g T 918 IR fear mar o

3. % 9g U @olH &l AT H 3

4. % g AP JARTH Y




QUANTITATIVE APTITUDE

Section Id : 2549894686
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894727
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498942136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the following number series only one is wrong. Find out the wrong number.
322 3 37 46 62 8 123
Options :
1.« 34

Question Number : 58 Question Id : 25498942136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TAaTaf@d & 4@ # el T T&IT 7Teid gl g Told T&IT shid 8T §7?

22 34 31 48 62 B8 123
Options :
1. v 34

5 % 37
3 % 62

4 % 87

Question Number : 59 Question Id : 25498942137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (?) in the following expression?

(0.064) x (0.4)7 = (0.4)” x (0.0256)?
Options :

1. %17

2.¥2

3.% 18

4. % 3

Question Number : 59 Question Id : 25498942137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafafea avs 3 vy I8 (2) & RMA R S G- smaf

(0.064) x (0.4)7 = (0.4)" x (0.0256)?
Options :
1. % 17




2.¥2
3. % 18
4. %3

Question Number : 60 Question Id : 25498942138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Evaluate the following:

23% of 6783 + 57% of 8431 =7
Options :
1. % 6460
2. % 6420
3. % 6320
4. ¥ 6360

Question Number : 60 Question Id : 25498942138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fau U oI B g B

6783 DI 23% + 8431 DI57% =7
Options :
1. % 6460
2. % 6420
3. % 6320
4. ¥ 6360

Question Number : 61 Question Id : 25498942139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What will come 1n place of question mark (?) in the following expression?

55% o0f V2116 +0.01 =7 x 20

Options :



L« 1265
» % 126.6

3 % 124.6

Question Number : 61 Question Id : 25498942139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fof@a <os & wra [ (?) & TI W Slaar T&r 3mean?

V2116 sT55% + 0.01 =? X 20

Options :
| v 1265

5« 126.6
;% 1248

4, % 1254

Question Number : 62 Question Id : 25498942155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (?) in the following expression?

23 x15-60+?+31=292
Options :



1. % 218
2. % 186
3.9 217
4. % 201

Question Number : 62 Question Id : 25498942155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frafafad s § Uy g (2) & R R S TRe et

23 x15-60+7?7+31=292
Options :
1. % 218
2. % 186
3.¥ 217
4. % 201

Question Number : 63 Question Id : 25498942156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Study the following information carefully to answer this question.

In a team there are 240 members (males and females). Two-thirds of them are males. Fifteen per cent of males are
graduates. Remaining males are non-graduates. Three-fourths of the females are graduates. Remaining females are
non - graduates.

What is the ratio of the total number of all males to the number of females who are non-graduates?

Options :
1% 6:1

o &1

3 % 8&:3



b
8
Ln
]

Question Number : 63 Question Id : 25498942156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafaf@a wa &1 3c’ &3 & fav &t 718 F=Fll F1 eaaEs HeTTT F

T g F 240 Terw (¥ AR Afgem) # = @ e v ¥ 95 ve =y w=es §
I 939 I-Faw g1 Aq-aturg #Eee F=aw g 9w Afgee wmEs

Tl g T T FEAT IR IR-TAAS ARAHT FT FEAT FT IFAIS FAT 82

Options :

1. % g : 1
2. W 8 : 1
3. ® 83
4. ® 5:2

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549894687
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6

Enable Mark as Answered Mark for Review and Clear Response : Yes



Sub-Section Number : 1
Sub-Section Id : 2549894728
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498942121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following words will come third if all of them are arranged alphabetically as in a dictionary?
Options :

1. ¥ Prominent

2. # Prohibit

3. ® Promise

4. % Prolong

Question Number : 64 Question Id : 25498942121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IR Vet fed T €1 Ife Tt Wedi &1 U WG I & SR qUITgend § afyd fohar St &, df iR R IR S 7 Xeg 3T

Options :

1. ¥ Prominent
2. % Prohibit
3. % Promise

4. % Prolong

Question Number : 65 Question Id : 25498942122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sirius is related to Star in the same way as Cygnus is related to:
Options :

1. ¥ Constellation

2. # Asteroid

3. #® Galaxy

4. ¥ Meteor



Question Number : 65 Question Id : 25498942122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fIRNTT o1 %R T 98] oy g S RE=g &7 I3
Options :

1. ¢ dRHSA

2. % &SI

3. % oot

4. % IePpT

Question Number : 66 Question Id : 25498942131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Instruction: Study the following arrangement carefully to answer the question below.

MIESRB3AK7£#9SUDIN46% FH2 @8 W

Question: How many such vowels are there in the above arrangement, each of which is immediately preceded by a symbol and immediately
followed by a consonant?

Options :
1. ¥ Nil
2. ¥ One
3. % Two
4. ® Three

Question Number : 66 Question Id : 25498942131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frafaRad soaw & AFYEa® Ue 3R 3% A G T ug ST W <

MI1ESRB3AK7£#9SUDIN46% FH2 @8 W

SIRIFd a1 H fara T TR g, o ¥ Ugdl T Udldh & 3R i 916 U o 82
Options :
1. % g
2.V TH



3. %3
4. % a4

Question Number : 67 Question Id : 25498942143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Select the alternative with the most appropriate description about these three words.

Columbus : Magellan : Vasco da Gama
Options :

1. # They are ancient astronomers.

2. % They are ancient sailors.

3. # They discovered some Asian countries.
4. # They were the first to design a ship.

Question Number : 67 Question Id : 25498942143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

39 O Weai o Ya9 H o IfId faavur aral faswed &1 9ad &3
PIAed : A : IRep! £ 7T

Options :

1. % Y URIF @ afae g

2. ¢ Y URIA 1fass B

3. % IgiA $o URMTS o= &1 TS D |

4. % Y IENS & fSHZT B3 91d Ugd Afad U

Question Number : 68 Question Id : 25498942144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Three words are given, which are related in some way. Select the option in which the three words are related in the same way.

Class : School : Student
Options :
1. ¥ Ball : Bat : Pitch



2. # Sister : Family : Brother
3. % Hand : Body : Finger
4. % Leaf: Tree : Root

Question Number : 68 Question Id : 25498942144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I & reg few 71w g o v faliy T 8 1 39 foseu o1 90 % forgss diF wisgl H Sl I R &1 Iav g
He : fagey : 8

Options :

1. % g gcatl ; T
2. WW:W:“—H_SC
3.%/6T?J:W:\3‘iﬂ?ﬁ
4.3311?‘3[:%:@_5_’

Question Number : 69 Question Id : 25498942145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In each of the following, four words have been given, out of which three are alike in some manner, while the fourth one is different. Choose out
the odd one.

Options :

1. # Tomato
2. % Gourd
3. # Brinjal
4. ¥ Potato

Question Number : 69 Question Id : 25498942145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

412 fa el & IR eg fau 77T & fod I 7 fhd) UopR O U S 8, Safdh U 379 e 8 1 39 fHe Wsg b Uga Y|
Options :

1. % CHIXR

2. % Tl




3. % ST
4.9 3T

GENERAL AWARENESS
Section Id : 2549894688
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894729
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 25498942086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Government of India had constituted the National Commission for Enterprises in the Unorganised Sector (NCEUS) under the chairmanship
of on 20.09.2004.

Options :

1. ¥ Dr. Arjun Sengupta

2. # C Chandra Shekhar Rao
3. ¥ PR Das Munshi

4. ® K Natwar Singh

Question Number : 70 Question Id : 25498942086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 71 Question Id : 25498942087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following CANNOT be suspended or restricted even during national emergency?

Options :

1. # Right to reside and settle in any part of the country

2. ¥ Right to life and personal liberty

3. % Right to move freely throughout the territory of India

4. ® Right to carry on any profession or business

Question Number : 71 Question Id : 25498942087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 72 Question Id : 25498942120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Major coalfields of India are located in the river valley of:

Options :

1. ¥ Damodar

2. ¥ Mahanadi

3. % Wardha

4. % Godavari



Question Number : 72 Question Id : 25498942120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 73 Question Id : 25498942130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who is said to be the father of Modern Olympic?

Options :

1. # Robert Dover

2. ¥ Pierre de Coubetin

3. % Theodosius I

4. % Ernest Curtis

Question Number : 73 Question Id : 25498942130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 74 Question Id : 25498942153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Sea anemone is also known as:



Options :

1. % Hydra
2. % Physallia
3. # Aurelia

4. ¥ Metridium

Question Number : 74 Question Id : 25498942153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. #® BIgSl

2. % rEHiel

3. % 3fRferan

4. ¢ Tfefeay

Question Number : 75 Question Id : 25498942161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following has the volcanic mount St Helens?

Options :

1. # Aleutian Range

2. ®% Alaska Range

3. % Cascade Range

4. ¥ Mohave Desert

Question Number : 75 Question Id : 25498942161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Mock

Group Number : 2
Group Id : 2549892997
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No

English Mock
Section Id : 2549894689
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894730
Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498942163 Question Type : TYPING TEST

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have



fun during this process as they get to explore new arenas.
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
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Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498942162 Question Type : TYPING TEST

These days, many people are overwhelmed by their busy lives. They are feeling the pressure from work, family life, and other activities.
As a result, they feel stressed and anxious. They know they need to relax, but they do not know how. The good news is that dealing with
stress is a lot simpler than you might think. One of the simplest and most effective methods for stress relief is relaxation meditation. It is
a term to describe several types of meditation. Its purpose is to help you relax your body and mind, in order to relieve stress and anxiety.
To do relaxation meditation, you can listen to some slow relaxing music or the sounds of nature, such as ocean waves. You can also do a
body scan wherein you need to sit quietly, concentrate on each body part and relax your muscles in the process. If done regularly,
relaxation meditation can prove to be one of the most effective methods for stress relief. It can completely relax a stressed out person in
just one session. Hence, practicing relaxation meditation is an effective way to avoid the health consequences of chronic stress. It will
improve your mental abilities, such as concentration, memory, analytical thinking, and creativity. Furthermore, relaxation meditation
will improve your mood, which will lead to better interactions with your loved ones. Here is how you can practice relaxation meditation.
Guided imagery. The most popular form of relaxation meditation for stress relief is the guided imagery. This form of relaxation
meditation consists of relaxing music and sounds of nature that guide a person to embark on an imaginary journey. It usually starts with
a little mindful breathing, followed by a body scan to physically relax your body. Then the meditation focuses on relaxing your mind by
taking you to an imaginary place that is comfortable and happy. The meditation generally uses a countdown to get you to this place and
includes a set of affirmations to help you relax. Once you reach the imaginary safe space, you normally stay there for a short period of
time to let your body and mind relax. After a while, the voice will slowly guide you back to where you started. Moving meditation. This
form of meditation describes a variety of different movements that are used for stress relief, for example, yoga. The best thing about
moving meditation is that it helps you stay physically active. Most of the experts recommend people to practice moving meditation when
they are too restless to sit still. One can either do a combination of both moving and sitting meditation, or an entire session of moving
meditation. Both methods are considered to be the best for relaxation. Relaxation meditation guided by self. Some people are more
inclined to do their own relaxation meditation. What they generally do is start out with a body scan, where they consciously relax the
muscles in each body part. After completing the body scan, they may then sit quietly for a few minutes, following their breathing. They
often play some relaxing music in the background. So, start enjoying a happy life with meditation.
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